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Question Number : 1 Question Id : 3838232721 Question Type : MCQ Option Shuffling : Yes
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:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In the following group of plants, sporophytes are dependent on gametophytes

- r . ;:- .
-L,[}";.ﬁ/“f’{, Ung$sice s sk Jos s E.us:guﬁ;__fﬁ
Options :
Bryophyta

1.4 5‘-5!‘-"?

Pteridophyta
5 % f-!;_.'d’ /

Gymnosperms

% é—-’-:_."@upf

3.

Angiosperms

4 % r'_.;’@x

Question Number : 2 Question Id : 3838232722 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Assertion (A): Endosperm is haploid in Gymnosperms
Reason (R): Female gametophytic tissue acts as endosperm in Gymnosperms

-::'_.t'.&i'l}f_.gf?u:ﬂufuug:@g){: (A) 545
_%J/f@)d’fum;ﬁi,JL.J_;H_.J.MMLU:U.{%ul'@(!(R) 24

Correct answer 18
i &
Options :

(A) and (R) are correct. (R) is the correct explanation of (A)

el L LW, (R -t (R #i(A)

1.4
(A) and (R) are correct, but (R) is not the correct explanation of (A)
e el 2L W,®RGF-uE ®) (A

(A) 1s correct but (R) is not correct

3 % -:i-u:ﬁ’éf (R) JQQC‘;‘J(A)

(A) 1s not correct but (R) is correct

4. % ~%-§(R)wgl-;-u55j(m

Question Number : 3 Question Id : 3838232723 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Assertion (A): Ascospores are produced endogenously in ascus
Reason (R):  Basidiospores are produced exogenously on the basidium

-UELﬁJE4JJbL}HUJJJLJ2/!u¢JQ' :(A) 53

-u[?i.mg,;;?‘jl}us.c &GVl he sz :(R) 2!

Correct answer 18
fal &
Options :

(A) and (R) are correct. (R) is the correct explanation of (A)

1. % -eyuzgié(a),(k) -uﬁif(R) #1(A)

(A) and (R) are correct, but (R) is not the correct explanation of (A)

e ool L LW,® F-E R (A

2. &

(A) 1s correct but (R) 1s not correct

3. % "%Lﬁg (R) u/g;-g(A)

(A) 1s not correct but (R) is correct

Lx el ®FAEW

Question Number : 4 Question Id : 3838232724 Question Type : MCQ Option Shuffling : Yes
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:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Match the following

ipdfies
List—1 List—1II
[eer | ISP
A | Pyriform shaped gametes I | Cyanophyceae
el F s &,
B | Auxospores [I | Rhodophyceae
Jor 2T J‘K@/
C | Carpogonium [II | Diatoms
Ol /j" V31~ .J';' i
D | Harmogonium IV | Pheophyceae
A S

Correct answer 1s
it G

Options :

1 % A-1V, B-II, C-III, D-I
> = A-Il, B-lIlIl, C-I, D-IV
3 v A-IV, B-Ill, C-lI, D-I

4 % A-l, B-Il, C-lI, D-IV

Question Number : 5 Question Id : 3838232725 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The number of stamens found in a single male flower of Cyathium inflorescence is
Bt S SURI LA L L S
Options:

Many
4

1. % U
Three
2. % Gk

Two

3. % 4

One
4. v K

Question Number : 6 Question Id : 3838232726 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
‘Pepo’ fruit develops from the following type of ovary

e bl S e g L P S
Options :
Tricarpellary, Syncarpous, Unilocular, Parietal placentation

1. ¢ :.;yd;uf-ur;;h?ughwgd‘fé/*uf

Tricarpellary, Syncarpous, Trilocular, Parietal placentation

2. % ;:?/djljfijuﬂxj;;oﬁ::ﬂguyfjﬂ;wf



Tricarpellary, Syncarpous, Unilocular, Axile placentation

=it o B i cvgd S f

Tricarpellary, Syncarpous, Trilocular, Axile placentation

4. % %yﬁffuuﬁcf‘&?lﬁfafuf

Question Number : 7 Question Id : 3838232727 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the following

_E_Jﬁrfjﬂ S
List — I (Plant Name) List — II (Tendril modified from)
(Phemsy) Iy (e Ed i N f
A | Cucumber [ | Petiole
§F bis,
B | Grape [ | Terminal leaflets
ufl 2 A5
C | Pisum [11 'Fen'ninal bud
Ve LF yls
D | Nepenthes IV | Axillary bud
ATV 4 'l S&

Correct answer 18
i 6
Options :

1. = A-ll, B-I, C-II, D-IV



5 % A-l,  B-II, C-IIl, D-IV
3 » A-IV, B-II, C-lI, D-I

4 v A1V, B-IIl, C-II, D-I

Question Number : 8 Question Id : 3838232728 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
The ploidy of “perisperm’ is

ﬁbd}H'J:Ji;JJF
Options :

1. % 1

2.« 2n

Question Number : 9 Question Id : 3838232729 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Intine of pollengrain is made up of
e (s () sty
Options :
Sporopollenin
g

/l.gg ':l"'u

Cellulose and Lignin
o
2 % ,;;"bu s ke

Chitin and Lignin
3 % u:"dj_!luj;b/

Cellulose and Pectin

4. p:'t'gjjl J}JtJf

Question Number : 10 Question Id : 3838232730 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The ratio of microspore mother cell to male gametes in a typical angiospermic plant

-ai_t'ﬂ_,fl:fb/uﬁ J.’L{’;J.;:gzg {4 c‘:um:}iéd..:g@:.dzdt':‘_g

Options :
1. % 1:1

2. ® 1:2

3.% 1:4



4.+ 1:8

Question Number : 11 Question Id : 3838232731 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
“Families of flowering plants™ book was written by

- ke e L] o .
-J”F:.,J!_,LJ St "L P ST T
Options :

Bentham and Hooker

1 % JJ/!I,JH(‘@:;:‘

Engler and Prantl

5> % f[,{.uf/ﬁ-‘,}

Hutchinson

N
3. % & Y

Linnaeus

4.%«&"»‘-)7*""'3

Question Number : 12 Question Id : 3838232732 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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Match the following

TS
List -1 List —II
[y |
A | Red Sander I Dracaena
sy b3
B | Indian Rosewood I | Pterocarpus
398J8) &l?-u-'ﬂ: Ve K2

C | Flame of the Forest | IIl | Dalbergia

Lo 1y T ﬂ,& _Lf:/_Jlf‘

D | Red dragon IV | Butea

Stk Uy

Correct answer 1s
s 5

Options :

. % AIl, B-I, C-1V, D-III
, ® A-IV, B-I, C-II, D-II
5 % A, B, C-I, D-IV

4 v A-Il, B-III, C-IV, D-I

Question Number : 13 Question Id : 3838232733 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The following type of Ribosome sub-units are present in an Eukaryotic cell
oS it P i L L BISEL
Options :
30S, 50S only
1. % 508,308 =~

408, 60S only
5 % 608, 408

508, 60S only
3. % 608, 508 &~

308, 408, 508 and 60S
4« 60S usi 508, 408, 308

Question Number : 14 Question Id : 3838232734 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The site of t-RNA synthesis
e LTS - RNA
Options:

Cytoplasm
. x 2WF

Nucleus

‘..--'
2./



Ribosome
a =

3 % (el
Centrosome

T
4 % | 278

Question Number : 15 Question Id : 3838232735 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

DNA molecule having the length of 68A°, contains 10% Adenins, How many number of
hydrogen bonds are present between nitrogen bases, totally in that DNA?

,;Jﬁu‘ﬂtz_u’inm mugiag SN 107 EALLDNA Ll A8

-r:_.d!:uy(ﬂA;’.ufuu-':L'fzuf@LULL;LL;'?JJ;CUFL-"G’-J}T
Options :
1. % 44
2.+ 56

3. % 20

4. % 40

Question Number : 16 Question Id : 3838232736 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Assertion (A): Crossing-over leads to genetic recombinations

Reason(R): Crossing-over is the exchange of chromatin bits between two sister chromatids
of homologous chromosomes

_;:'_i:,iﬁ (ﬁ@;):&i}%)ﬁw;gu{y;& 1 (A) 54
_5,&,{*' L,fur"Lu,fb’yj/ru)g-‘.uLJ.«:-’L!J}/JJL[‘L{FL})'JGfQF’;Jg :(R) 2
Correct answer 18
Gt 6
Options :

(A) and (R) are correct. (R) is the correct explanation of (A)

1. % ‘%y&’gii(ﬂ),(ﬂ) -uf.?éa(R) »I(A)

(A) and (R) are correct, but (R) is not the correct explanation of (A)

e Seolnl LW, ®) F-ut ®) (A

(A) 1s correct but (R) is not correct

3. v *?Uﬁ}g (R) cf-pé-g(A)

(A) 1s not correct but (R) is correct

Lx el ®FAEW

Question Number : 17 Question Id : 3838232737 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The following type of cell divisions occurs in microspore mother cells to increase their
number in microsporangium

Lf:up(fjuti.';f’u’:pﬂi.i'LulL)'::|ﬁdb)&;)l.dxé-é!(u:u”);@_é!r
s

Options :

Meiosis

L (E G

Mitosis

2o (5 U5

Amitosis

3. % U7 kel

Endomitosis

4, % rfﬁd?uw

Question Number : 18 Question Id : 3838232738 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The following characters are found common to both mitochondria and chloroplast
4 si@éﬂ:;yﬁ;ﬁ_@ijgd(w%sﬁ):ﬂwm.g_f?
A.  Double membrane cell organelles
{:r"“;dy["';bydﬁn
B.  Can synthesize ATP’s
SESkS ATP's
C.  Contains ds DNA, 70s ribosomes
UL\ 1708, ds DNA
D.  Found in all iving cells
Bt Uesiol
Options :
A, B Only

1%« B,A I/

A, B, C Only
, » GBI I

A, C, D Only
3 % D,C,A/~

A, C, Only

4. % C,A.n-.-j/"

Question Number : 19 Question Id : 3838232739 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Lateral roots develop (originate) from the following tissue
Y, AL (L 2O T 5
Options :
Epidermis

1. % -2

Hypodermis

2 % M

Endodermis

3 % N e

Pericycle

4. fEL‘"*“f

Question Number : 20 Question Id : 3838232740 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Among the following the most important pollinator for agricultural purposes is

=Y, (,Z;fg)JKJ,.;;}(‘?l:.-g:L.l:.J_.:det:‘Fu.‘.:.fI;)ufJ,j».,w’
Options:

Silkworms

1.23'/?-(ﬁ4'

Honeybees

2 LJ_,L"(L;H?



Butterflies

3, % g

Nematodes

J- .
4 % S3LE

Question Number : 21 Question Id : 3838232741 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The following is not a microelement

ac;gr:r,’éij,?:ufvtjn_'w’?

Options :

1. % Zn
2 % Fe
3. % (]

4. P

Question Number : 22 Question Id : 3838232742 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Match the following

T3 04
List—1 List—1I
[ ¢ | O
A | Adenine derivatives I Abscissic Acid
ety o 2L
B | Carotenoids derivatives [l | Kinetin
olels 422 s [ ﬁfg
C | Synthetic auxin [l | Ethylene
BPAL f o
D | Respiratory climactic IV | Napthaleneacitic acid
s 238

Correct answer 1s
..:'_.T,Jfg

Options :

. % A-ll, B-1V, C-lll, D-I
, % A-ll, B-III, C-1V, D-I
3 % A-II, B-IV, C-I, D-III

4. v A-1l, B-I, C-IV, D-II

Question Number : 23 Question Id : 3838232743 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



The first reaction in Photosynthesis is
Options :

Photolysis of water

P -

e G£OU0

Excitation of chlorophyll molecule

R4 .;jj’.’ KLL"LJ_P!J}K

Reduction of CO»
s = J7Y €O,

Utilisation of assimilatory powers

4. % J_JL;‘;"!E,_'::;UL?

Question Number : 24 Question Id : 3838232744 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Find out the correct statements among the following
-éﬂﬁﬁﬁ'ju(dkgﬁljﬁ
A.  InCy plants photorespiration is absent

.T_.Sm:?r‘/:af“(jydfuu{: C 4
B. In photorespiration pathway there is no synthesis of ATP & NADPH

LA O

A 6§ NADPH sl ATPUE g™ (L
L, C4 plants are photosynthetically more efficient plants
u_’?iﬁ;.:fjru.l:.};.;@}!&(}{f hﬁf_.,sg‘f(f 4
D.  Kranz Anatomy is found in C4 and CAM plants
;T_.Jl?ft:::,g':;l/u’:uu:‘? CAM s Cy
Options :

A and C Only
1.2 Cat A B/

A, B, and C Only
> CunlB,A 3

A, C,and D Only

3« DsC,A -t

A Only
4% A D/

Question Number : 25 Question Id : 3838232745 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



During the process of aerobic respiration O, utilisation occurs in the following stage only

-{.Jﬁﬁ&/ii»._#’.-iﬁ&nﬁuui&ii 0, yl;;:l.ff.qul_,m
Options :

Glycolysis

1. % L-"f‘ﬂ'-:k’“ﬁ

Glycolysis and Krebs cycle

;uu‘f/(.ul' Jfﬁﬁ

Krebs cycle and ETS
3 % ETS » J.-J,;_,a"-r/

ETS (Electron Transport System)
(&Y H1) ETS

4.+

Question Number : 26 Question Id : 3838232746 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The final acceptor of ¢ (electrons) during non-cyclic photophosphorylation is

-,;_aﬂJ;EJC?IK(ﬁ}UI) e L.')UJJLG'-{.J!&'GJHJJN/?.;

Options :

1. * NADP

5 % NADPH,



v NADP

4 % H20

Question Number : 27 Question Id : 3838232747 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In Phloem the food material 1s mostly translocated in the following form

-uff_ﬁuwuffdi._,ﬁ}'uya.:LJFEJ,:'r
Options :

Glucose

1. % Jffpg

Fructose

5 % 97

Sucrose

3. v }3/!"

Starch

4. ® o

Question Number : 28 Question Id : 3838232748 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Cytochrome ‘C’ transfers the electrons between
_ﬁifuwdyﬂdidiwfjl}m (%3 rs)/FL'
Options :

Complex I and II
P | D710 N

Complex II and III
5 % 115 11 <

Complex IIl and IV

e  IValllS,

Complex IV and ATP synthase

ax AU ATP IV S,

Question Number : 29 Question Id : 3838232749 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The type of Nucleic acid found in a virus

e P S 238 L AUt U
Options:

DNA only
1.« DNA G~

RNA Only
> # RNA G/



DNA or RNA
. » DNAL RNA

DNA and RNA
4. % DNA s RNA

Question Number : 30 Question Id : 3838232750 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Match the following

Liflies
List - List I
- - ff
A | Behaviour of chromosomes was parallel to |1 | Hugo de Vries
the behaviour of genes il iz ”

e brne Lt L SRl

B | Rediscovery of Mendel’s experiments

Il

Alfred Sturtevant

o329 0k K.::L;Z:Ji{ ;«;ﬁféﬂ!
C | Distance between genes on chromosome [T | Correns
MlighenL J2 4 S

D | Mutations

I

Y

Sutton & Boveri

St

Correct answer 1s
e 5

Options :




| % A1V, B-II, C-I, D-II
, » A0V, B, €1, DM
3 v A1V, B-II, C-lI, D-I

4 % A-1, B-IlI, C-III, D-IV

Question Number : 31 Question Id : 3838232751 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
If a heterozygous tall plant is crossed with a homozygous dwarf plant the % of progeny
having dwarf character is

o L " “ o _ P
&yrﬁﬂa@ufydt:féwwi.lyg.ﬁ??a oy M fﬁr@_:; j.?}b:ff':..g!fﬁ
_,T_.t'ﬁ(ﬂf‘) 41
Options :
1.% 0
2 % 25

3.+ 50

4. % 100

Question Number : 32 Question Id : 3838232752 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
The percentage of ‘ab’ genotype gametes produced by ‘AaBb’ parent plant is

_{_mgﬁ'bfufu;[.f:’ dw “ab” ﬁilﬁ;w;@ s AaBb

Options :

1. % 50
2.« 25
3. %12.5

4. % 75

Question Number : 33 Question Id : 3838232753 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Find out the correct statements among the following

gl Bl
A. DNA is (-Ve) charged, Histone proteins are (+Ve)charged
s (+Ve) UF s gt 51 (-Ve) DNA
B.  DNAis (+Ve) charged, Histone proteins are (-Ve) charged
_u,?g;ulu (-ve) u':";!f"‘__ uj;*‘f ffﬂl;{rulu (+Ve) DNA
Euchromatin is transcriptionally active
WL F L LG At Sy
D. Euchromatin and heterochromatin both are transcriptionally inactive

...E.ffu::‘:‘fé-i dl:;JE Uy JE‘L;‘MG/:"L_, 2 c,rf'l,a;fg

52



Options :

1.+ 4A,C
2. % B, C
3% A, D

4.% B, D

Question Number : 34 Question Id : 3838232754 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The haploid content of human DNA contains

Bt LI DNA QU
Options :
. »33x10° bp
, « 3.3x10° bp

5« 4.6x10" bp

4 % 4.6x10° bp

Question Number : 35 Question Id : 3838232755 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
UUU, CCC, AAA, GGG are the codons codes for the following amino acids respectively

SN e A8 GGG, AAA, €CC, UUU
Options :

1 = Phe, Val, Gly, Lys
> « Phe, Pro, Lys, Gly
3 = Phe, Gly, Pro, Asp

4 = Gly, Asp, Lys, Pro

Question Number : 36 Question Id : 3838232756 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
[dentify the correct statements among the following

Ll tbios

A. RNA interference (RNA1) takes place in all eukaryotic organisms as a method of cellular
defence

e b1 L3 p 568 L) (RNAD Ut A FIRNA U8 Ju'be(v"
B. Bt-toxin gene, CrylIAb controls cotton bollworms
B b LV CryliAb o 3By
C. Mycorrhizae helps the plants for more absorption of potassium
B b Lt gk
D. Elusion 1s a technique of extracting separated bands of DNA from agarose gel

kW iy S Siew ) P oL DNA < Rk



Options :

1. % A,B,C

> % B,C,D

3. % A,C D

4.v A, B, D

Question Number : 37 Question Id : 3838232757 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the following

il
List -1 List —1I
[y | WO
A pBRI2 I To join DNA fragments
t224Us¥ £ DNA
B | T-DNA [I | Plasmid with ‘cos’ site
W sl b2k “cos’
C | COSMID [II | E. Coli
() 51y
D | DNA Ligase IV Agrpl?acterium tumifaciens
< DNA SEE 2

Correct answer 1s
Gong s &

Options :



1. = A-III, B-1V, C-I, D-II
5. v A-lll, B-1V, C-1I, D-I
3. % A-III, B-I, C-II, D-IV

4 % A-III, B-II, C-I, D-IV

Question Number : 38 Question Id : 3838232758 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
[dentify the correct statements among the following

et 2
A.  Probes are generally ss RNA or ss DNA
1L % ssSDNAL sSRNA (faz1.9
B.  Probes are complementary to desired DNA
A5 L DA Ny

C.  Theefficiency of uptaking of DNA fragments by bacteria decreases when they are
treated with Ca™ fons

LIS olunf LONA a5y oo e unCat il 26,/
héij‘-?”vfd-"r.f’i“u(

D.  Cloning vectors should have low molecular weight
Lpdnf e bnl¥
Options :
A, B, C only
1 % CGB,AJA



A, B, D only
> ¢ D,BAJSA

A, C,D only

3% D,CLAS/A

B, C, D only
4. % D C B -..-5/'9

Question Number : 39 Question Id : 3838232759 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Use of microbes to remove the toxic (waste) substances that are released into the
environment is

.L:)/JLF*""I y(rtelg:‘?ufi d:i.l.'qf(m;) LJ.!}Lé___/::fz i{’;ﬂf' a7
Options :

Biofortification

e S

Bioremediation

2. ¢ s

Bioterrorism

3 % LSJ/'?“ &""3?



Bioinformatics

e Fide

Question Number : 40 Question Id : 3838232760 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the Following

L izdties
List — 1 List — 11
e g | O
A | Saccharomyces | | Statins

‘;”:,,? u""'i[.";f

B | Aspergillus I | Cyclosporin A
JJ.'.’?/.::{-I A u}ﬂ;"}'gir

C | Trichoderma [T | Citric Acid
Wk 25 -

D | Monascus IV | Ethanol

Vacla Jos

Correct answer 18
f_h‘.aJﬁé‘

Options :

1 % A-IV, B, C-lIl, D-lI
, % A-IV, B-Ill, C-I, D-II

3 % A1V, B-Il, C-II, D-I



4 v A1V, B-IlI, C-II, D-I

Zoology
Section Id : 38382363
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 40
Number of Questions to be attempted : 40
Section Marks : 40
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 38382363
Question Shuffling Allowed : Yes
Is Section Default?: null

Question Number : 41 Question Id : 3838232761 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Study the following and pick up the correct statements
[ Greater biodiversity is found in temperate regions
II.  Invasion of alien species is a threat for local species
. Loris tardigradus is one of the threatened species in our country
[V.  Abiographic region with significant reservoir of biodiversity that is under threat of
extinction from humans 1s called a sanctuary

oSl ettt
PR AN IS
e Pl S S i 4
e Ll LUy e PPt deeLoris tardigradus -111
SEA LIS RL LS o i T e P e ooV

e blf
Options :

| % LI
5w IL 1
5 % LIV

4 % LI

Question Number : 42 Question Id : 3838232762 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Species is considered as a group of individuals which are showing similarity in karyote.
Hence, species is a

Uil g s S F sl i e tid]
Options :
Breeding unit

1. & LE'EI’LSJ.:’J;

Ecological unit

9 % ngkjﬂv

Evolutionary unit

L« o6deE

Genetic unit

o v 0802

Question Number : 43 Question Id : 3838232763 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Assertion (A): Most of the cranial bones are dermal bones
Reason(R): They are formed by the ossification in the embryonic mesenchyme

_Uﬁlﬁgéuﬁyﬂ:k}:(#\) L:,;f:
ALt S LE LA G R 23
Correct answer 18

’T—-:'Jfg

Options :



(A) and (R) are correct. (R) 1s the correct explanation of (A)

el ALW® - ®) (A

(A) and (R) are correct, but (R) 1s not the correct explanation of (A)

,,;_u:.f’:.;u,éjii (A RF-E R (A

(A) 1s correct but (R) 1s not correct

< HE ®FE )

3. %

(A) 1s not correct but (R) is correct

pe el ®FE W

Question Number : 44 Question Id : 3838232764 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Match the following

RTINS
List—1 List — 2
| -=ff 2 -erf
A | Basophils [ | Microscopic police men
sJ L‘J:urgw:fw’:
B | Esinophils [1 Macm})hages
bR & Sk
C | Neutrophils [T | Immunity
w0 =2
D | Lymphocytes IV | Heparin
24 s
V | Antigen — antibody complexes
Oy

Correct answer 18
Grlte &

Options :

1 v A1V, B-V, C-I, D-III
5 % A-IV, B-V, C-II, D-I
5. % A-III, B-I,C-V,D-IV

4. % A-V, B-1V, C-III, D-II

Question Number : 45 Question Id : 3838232765 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
Pseudocoelom is the body cavity of
Pl AU TS
Options :
Flat worms
1% ;'_ma:_:
Earthworms

I_;-"’
2. % &5

Round worms

3. ¢ E_::r:k_,'y(

Acorn worms

4. % Z_ s Acorn

Question Number : 46 Question Id : 3838232766 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Study the following and pick up the correct combinations:

Ll LSS
S. No Phylum Larva Example
AUk F l Je
[ Annelida Trochophore Nereis
14 #7 JE
d Mollusca Veliger Periplaneta
£ }}-5 )
it Hemichordata Tornaria Balanoglossus
Lk Wi/ Ul
o Ctenophora Dipleurula Asterias
B 1IOL% J !
Options:
1 = LI
> & 1L 111
3 o 1110
4 % IL IV

Question Number : 47 Question Id : 3838232767 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Molluscs having closed circulatory system are included in the class
- Lsglut&;mufljri ?’Lliajl’w}dfu:.ﬁ:
Options :

Gastropoda

b &
- r;i’s/if

Cephalopoda

5 139G

Scaphopoda
559€

Pelecypoda

4% Iﬁ;rdf:

Question Number : 48 Question Id : 3838232768 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Match the following

TIPS
Scientific name Common name
rtu’." b G
B Ornithorhyncus I | Flying fox
S AT b
B Pteropus I | Emu
;ﬂ} Y il
& Coracias [l | Duck billed platypus
Ji-:' L U't':blgi_%d/}
D Dromaeus IV | Parrot
S5 b
V | Blue jay
L

Correct answer 18
ik 6

Options :

. % A-NI, B-I, C-1V, D-II
, % A-Il, B-V, C-I, D-III
3 % A-1V, B-III, C-II, D-I

4 v A-lll, B-1, C-V, D-II

Question Number : 49 Question Id : 3838232769 Question Type : MCQ Option Shuffling : Yes




Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Eggs of reptiles are
L1
Options :

Microlecithal and cleidoic

-

1 % J'AJ.?;JJ[LF!{_EJJJ(J
Mesolecithal and telolecithal

5 % $r s dts($3.25 41

Megalecithal and cleidoic

3 LS I T L),

Mesolecithal and Isolecithal

4 % CEDIEITICEVNI T

Question Number : 50 Question Id : 3838232770 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Flagellum in Polytoma 1s

IV ASRY,
Options :
Stichonematic

s (&
1. % L s



Pantonematic

2. ® JTLE;';?

Acronematic

3. ¢ L )i

Anematic

4, % L

Question Number : 51 Question Id : 3838232771 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Study the following and pick up the correct statements

-é@xﬁ'}Jy‘Lﬁgif.ﬂWKﬁj

5 Opioids are obtained from Cannabis sativa
e bl S o 12U A

I1. Heroin is obtained by the acetylation of Morphine
%V%gfb_g;jéﬂjﬁlﬁL_-,,*-‘-;;L:‘ch:/;:

[11. Barbiturates cause sleeplessness

'

BT S
V. Benzodiazepines are tranquilizers
- . )
LJ:"L)_L;J!QU:JJ"’ 4 el e
Options :

o LI

5w 1L 1V



3 LIV

4« LIV

Question Number : 52 Question Id : 3838232772 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Assertion (A): Syngamy in Plasmodium is anisogamy
Reason (R): The gametes are similar in size

-.T_.;-,ﬁlsj,,w-‘/_?.;—._guﬁdrﬁhﬂg:(ﬁ) §
Ll Bz 1i(R) 29
Correct answer 1s
Gerite g
Options :
(A) and (R) are correct. (R) is the correct explanation of (A)
e el £ LW R -uE R si(A)

(A) and (R) are correct, but (R) 1s not the correct explanation of (A)

- e F ol 2L WRF-f ®) A

(A) 1s correct but (R) 1s not correct

3. ¢ *‘f—-vﬂ;é‘ (R) d?»;-g(A)



(A) is not correct but (R) is correct

=& RFAE W

Question Number : 53 Question Id : 3838232773 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Parasite responsible for hyperplasia in its host is

L,,P-fb,l.-_,.si ( Hyperplasia ) dﬁ,ﬂfuﬁ'c){.;{
Options :
Wiuchereria

‘f“'
1 % ki

Plasmodium

o

Sacculina

3 % [

Fasciola

4_<,/U.-::;

Question Number : 54 Question Id : 3838232774 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Benign tertian malaria 1s caused by
EoLbl A P
Options :

Plasmodium vivax

Plasmodium ovale

2 % L ﬂffﬁ"}%

Plasmodium falciparum

3 u [AUFIY

Plasmodium malariae

® *{/:L{,/.{{rfﬁj

Question Number : 55 Question Id : 3838232775 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
These cells of cockroach contain symbiotic bacteria
il 2ES AU S
Options:
Trophocytes

ARy,
1. % e S

Mycetocytes
2w U



Oenocytes

b

3 % o

Urate cells

i Fa
4. % by

Question Number : 56 Question Id : 3838232776 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
In cockroach, egg case 1s secreted by these glands

ik g S AL s ot )12
Options :
Colleterial glands

1w el

Utricular gland

> % JJ.AF.JIJJI. ,3:

Phalic gland

Mushroom shaped gland
4% méz:fp}‘



Question Number : 57 Question Id : 3838232777 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

In cockroach, thermoreceptor sensillae lie
Y, SN O~ MLV I ﬁﬁ’f

Options:

In thorax

In abdomen

2. % mos

On trochanter

L x (LD )

On first three tarsomeres

4o SuRP AL E

Question Number : 58 Question Id : 3838232778 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
This rule states that with the increase of every 10° C, the rate of metabolic activities doubles

Lt s K F w7 100 Cp o L i
Options :
Allen’s rule

1 % Jr1Ee)



Van’t Hoff’s rule

5 o UK

Bergman'’s rule

3 ® dﬂ'goﬁjf

Jordon’s rule

4 % SIS

Question Number : 59 Question Id : 3838232779 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Statement I: The animals that are capable of swimming in water are known as neuston,
Statement [I: Decomposers are absent in limnetic zone

W10 o vt S Sainl £ 40t ) ok

By Sk JF B ek () g

Correct answer 1S
%f"?g
Options :
Both statements I and II are correct

- q_éa (LT

Both statements I and I are false

5 % ;:_gﬁ”g 1921} (U7



Statement I is correct. But II is false

3. % ufédnuw‘?g I ol

Statement I is false. But II is true.

4.v ‘%—gl[t‘«’kdgf—-djéﬂ [

Question Number : 60 Question Id : 3838232780 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
:N.AThink Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the following

BT

List— 1 List -2
laew g 2y
A | Nitrogen oxides [ | Oxygen transport
AP F Pt
B | Carbon monoxide II | Biomagnification
Ak e
C | Carbon dioxide [1I | Photochemical smog
T ek il
D | Industrial effluents IV | Global warming
Ry 1P gL 1 _wl.?dJLs
V' | Increase of BOD
& € BOD

Correct answer 18
Genr e &
Options :

1. % A-Y, B-IV, C-I, D-1II



, % A-Ill, B-1I C-1V, D-V
3 % A-IIl, B-I, C-V, D-IV

4. v A-Ill, B-I, C-IV, D-V

Question Number : 61 Question Id : 3838232781 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
From the cells of intestinal villi, chylomicrons are transported into the

L S Ut chylomicrons £ JhG T
Options :

Blood capillaries

& #
1 % =k A0

Lacteals

2. J!fu‘{

Interstitial fluid



Question Number : 62 Question Id : 3838232782 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Assertion(A) : Female human beings produce a high pitch voice
Reason ( R): The vocal cords in females are long and thick

_;:_g]ﬂ}l.eTJ Pitch eslJ s’ (A)SF >
B S s i s (R) o3
Correct answer 1s
grise 3
Options :

(A) and (R) are correct. (R) is the correct explanation of (A)

- el L LW ® -8 R ()

(A) and (R) are correct, but (R) is not the correct explanation of (A)

) % -r;-uf wwsif 2L WRHF _u.?Cf (R) ,si(A)

(A) 1s correct but (R) 1s not correct

3. ¢ *‘f—-tﬁ;g (R) w’gf—éﬂ(A)

(A) is not correct but (R) is correct

4. % -Lg(ﬂ)ug?ﬂg(ﬁ)

Question Number : 63 Question Id : 3838232783 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Statement I: Right atrio ventricular aperture in human heart is guarded by a tricuspid valve
Statement I1; Blood plasma without fibrinogen and some other plasma proteins is called lymph

-ci-L‘/f)J MBSy G2 G el
-ﬁ:.l:‘Ug(JJ:mﬁr’/idfu?.),?t}_.nlc)?f:ﬁliVCUZJ‘”I.ICJR‘:HUL:
Correct answer 1s
%f'ﬁg
Options :
Both Statement I and II are true

- ;;_55 s

Both statements I and Il are false

> % a‘:-l.f:/éd DT IO %

Statement I is correct. But Il is false

3. ¥ uﬁiglldkwgéd JU

Statement | 1s false. But II 1s true.

4. % ‘?'5:“%”50’94-‘-/5;5 I el

Question Number : 64 Question Id : 3838232784 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
These structures eliminate sterols, hydrocarbons, waxes etc. in human beings

-UELJJHE:,-JGUQJ"-'J;'JK:J}/E{ Sterols ::.f,"iuju*

Options:



Sweat glands

i L

3. %

Sebaceous glands

4. & 3965 s

Question Number : 65 Question Id : 3838232785 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Dentalveolar joint is an example for

-
- J&J 122 Dentalveolar
Options :

Gomphoses

e

Syndesmoses

) % JRE,

Sutures

3 % 87



Synchondroses

4.%'“53"/&;&:1.

Question Number : 66 Question Id : 3838232786 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Study the ﬁ:}liuwing, and pick up the correct statements:
urL-J ub{;:lé;’l&*bﬂj’;
I, Superior colliculi are concerned with auditory function
Uz 1 I3 el
I1. Inferior colliculi are concerned with visual function
s Ui Aed 0
[11. Pneumotaxic centre lies in pons varoli
< tlblm S 2 S pei
[V.  Thermoregulatory centre lies in the hypothalamus
AN EY FIB PN
Options :

| ox LTI
5 oLV
5 % LI

4 % 1L IV



Question Number : 67 Question Id : 3838232787 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Study the following and pick up the correct combinations

L2l W S s

S.No | Gland Hormone Disorder
A | i Ui et 7
I Pancreas [nsulin Diabetes insipidus
-~ dg.rjl J/(iubfﬂi_._}
[I | Thyroid gland | Thyroxine Tetanus
134 2 Lfﬁ,c.p’ iF
III | Adrenal glands | Cortisol Cushing’s syndrome
nﬁu‘:ui{ J"L,;JE/ __f/.:.w:ﬁ
[V | Pituitary gland | Somatotropin | Dwarfism
i LIy oA
Options :
1% LI
> w 1L 111
3« 1L IV
4 % 1L IV

Question Number : 68 Question Id : 3838232788 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0
These hormones are commonly called catecholamines

_;:'_.t‘L?L;-'f catecholamines ,;':J.#'r'l.;:'/u";’.fl:,;_—,ll
Options :
Adrenalin and noradrenalin

o e

Thyroxine and calcitonin

s w LA

Somatotropin and prolactin

I e ¥
3 % ;j"gs,f;mg;u:'f‘r

Calcitriol and aldosterone

4 % ;_-,lsj":,ﬂFJpr“/'ﬁJLf

Question Number : 69 Question Id : 3838232789 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Match the following

WTINE

List — 1 List—2
li..':.-fy*»; Yy
A | Physical barrier I | Lysozyme
ufjh/; J‘b ('J.Fré
B | Physiological barriers | I | Interferons
5K S
C | Cellular barriers IIT | Monocytes
U’LEJJ Lf;b' g_/ylfjjr’
D | Cytokines barriers IV | Colostrum
Sk L A
V| Mucus membrane
94 J;J’ ¥

Correct answer 1s
%_‘..Jﬁ‘g

Options:

1 % AV, B-l, C-1V, D-II
5, v A-V, B-I, C-II, D-II
3 % A-Ill, B-II, C-I, D-V

4 % A-l, B-V, C-II, D-11I

Question Number : 70 Question Id : 3838232790 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0
Hormone secreted by sertoli cells of testis in human beings

LN p LEAL YL
Options :
Testosterone

1% U

Inhibin

z,wwfiﬁ"

Progesterone

3 % OV

Interstitial cell stimulating hormone

4. % u«'fxl;w(}'dﬁf.ﬁo’f

Question Number : 71 Question Id : 3838232791 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Pick up the incorrect pair:

AP LNST -8
Options :
Vasectomy — male

1. % *’f‘bﬁi;\}uﬂd?



Tubectomy — Female

&J.f"—u?!;drié!g

Amniocentesis- Brain disorders

3. v U.Lr-’jkj“ Sz

Contraceptive pill — Saheli

4. % ;_;'E'-“L_JEJJJ’LFC;L

Question Number : 72 Question Id : 3838232792 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

If a red eyed male Drosophila and white eyed female Drosophila are crossed, the eye color
in their offspring is

ERF LS Ll ok e ridndT s rissud Tl o
Options :
Females red eyed and males white eyed

o FTL s b i sl FTL s B, sk
1.

All are red eyed
5> % @FTLH-_?JE//{L?

All are white eyed
3 % m"/TLI':_l?;Jgﬂf'”r'Vn

4. %



Female white eyed and males red eyed

JTL-UJJE;/.;J!L&FTLHJJA&-&’UL

Question Number : 73 Question Id : 3838232793 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
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A person is with short stature, small round head, furrowed tongue and partially open
mouth and retarded physical, psychomotor and mental development. The person is
said to be suffering from this genetic disorder

L;ﬁJfﬁ:&)iJHw{ﬂ)Tu;{.,.':bdj2_.«3!wigj;],’j,%‘fthyg"U[!J{Uﬂ?*gl
-;{.L"y:}"ti‘:_.dljgw&,}u%ﬁ?ﬁ_‘jﬁ.y
Options :
Turner syndrome

& LE ]
1 % r'ui-fff

Down syndrome

2 w-/") r.j‘}}dir‘:

Edward syndrome

B ]
3 % (90453 k)

Klinefetter syndrome

.
4 % r'!nf.‘-*/wgfﬁ
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In human genome, the highest number of genes are present in
v W o T . g
= r‘LJ:I'd:' | [FP—a pﬂf:!p’wj:m;..ffuﬂ('rfccu)ul
Options :

Chromosome 13

e 1378

Chromosome 21

L 217709

X- chromosome

e X

Chromosome 1

o 1770
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Cynognathus is a transitional form between

- e ~J P
-/ J?JJJIJWH/?V
Options:
Fishes and amphibians

1. % ‘.-'.L-F;Je-“"u"-g



Amphibians and reptiles

5 I/'!}"J!iejf?g_ﬁ

Reptiles and birds

3 % r‘._.ﬁ{iulr'lf

Reptiles and mammals

4 o EEal1?
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Statement I:  Jean Baptiste de Lamarck stated that acquired characters are inherited to the
next generations

Statement II; August Weisman strongly supported the view of inheritance of acquired
characters

.ng:xj”;ﬁfdna;mﬁ;yﬁ@m’i&wZ._J"JLJJ;;,;_L.,-:,? o 0"
-;;_d::gL?a:LJ{:Jré"qf..ﬁ.;l;L}mLc}fﬁ;jT el
Correct answer is
’f—-:‘fg
Options :
Both Statement [ and II are true

| % r.‘:_éd | PZ1) (U] %



Both statements | and 11 are false

< E Waek

Statement | 1s true. But II 1s false

3 v G M8 1ok

Statement I is false. But 1l is true

4. % ‘.—g“dkdgﬁ'-ufg [k
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If one species diverges to become two or more species, it is called

et AN A L U0l I L1
Options:
Cladogensis

: Jl:s}'.algjljr/aﬁ/;rﬁﬁ

Anagenesis

2.%07’::')'“’

Phyletic evolution

3 ® L'F:"J'J:'

Convergent evolution

4. i@ E;J’ffkt-_-'fta’:
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Assertion (A): Magnetic Resonance Imaging is generally a very safe procedure
Reason (R); It does not use ionising radiation

PRV 4 _Qifgjﬁff S (A
S )0 (R) s
Correct answer is
S £
Options :

(A) and (R) are correct. (R) is the correct explanation of (A)

1. ¢ "f-yu’éﬂéj-éc(A)(R) -l;_.ﬁ'ég(R) »I(A)

(A) and (R) are correct, but (R) is not the correct explanation of (A)

o % -»:—uf:-:‘w:é;ié (A) (R)d'?-u.?g(R) 21(A)

(A) 1s correct but (R) 1s not correct

3 % -%-uﬂ‘;é“ (R) ;;,&J,:-_.éﬂ(g)

(A) is not correct but (R) is correct

v el ®FE W
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Prolonged P-R interval in ECG indicates

b/ sl
Options :
Tachycardia

1. % WJH;@’;EJ'-.JE

Myocardial infarction

Bradycardia
3. v o prerHh

Hyperkalemia

. n A
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Match the following:
ERTI0

List - 1
| vy

List -2
O

A | Direct ELISA

[ | Antibodies

Wl PA2a?
B | Indirect ELISA Il | Brain
ey s

C | EEG IIT | Antigens
lw#

D | CAT [V | Tomogram
rl,f vy
V | Heart
A

Correct answer 1s
el g

Options :

1. % A-III, B-I, C-V, D-IV
2 « A-IIlI, B-I, C-II, D-1V
3. % A-IV, B-II, C-1, D-1II

4. % A-l, B-III, C-IV, D-II
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When two resistors of resistances (123£2) Q and (227£4) Q are connected in series, then

the value of equivalent resistance is

i pPorelian e (0714 Q1342 QU1 pLusi o/

Options:

L~ (350£7) Q

, % (350%1) O



L« (350£12) Q

4 % (350£3)Q
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T ‘ ; , ) i :
Starting from rest a car accelerates with uniform acceleration of 4 ms™ for some time after

which it comes to rest with uniform deceleration of 6 ms ., If the total time of travel is 5 s,
then the total distance travelled by the car 1s

RIS ST ALY Pl s B AR L e o

- Mo 2 LK KIS sﬁ:ﬂ(}:ﬁ{_tf@fw"{:me’Lf&/.ﬂngulﬁﬁ6 ms

Options:

1.% 25 m
2.+ 30m
3. % 60 m

4. % 125 m
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Two bodies A and B are projected simultaneously with velocities 20 ms™ and 40 ms™
respectively. Body A is projected vertically up from the top of a tower of height 80 m and
body B 1s projected vertically up from the bottom of the same tower. The bodies A and B meet
in time of

(Acceleration due to gravity =10 ms™)

80my AP e /40 ms™ 1 20 ms™ o AAUE g1 B A (Lo
f}'ﬁg&ﬁgh&ﬂf}!f;é_éﬁwﬁb@ ﬁ;ly’&ggh{égu‘;ﬁ;{.,;LJQ[_M
&!J(Jlgé- Bl A

(=10 ms™ it A1)

Options :
1.%5s
2.% 38

3 % 68

4.¢ 458
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A body is projected from the surface of the earth with a velocity of 10\/5 ms™' such that its
range 1s maximum. The velocity of the body at half of the maximum height is

(Acceleration due to gravity =10 ms ™)

4

JAJL@K%;;C";JIO@ ms 14:.5\},0':}5.5_3{&?!:,#&!}/{/*_{1
_Jmaid/f)‘,;dﬂdl?i
(=10 ms™ gJ.3b2401 1)

Options :

1 % lf}\ﬁ ms
2.+ 135 ms”'
3. % 15v/2 ms™'

4. % 30 ms”|
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A body of mass 10 kg is kept on a rough horizontal surface. If the force applied on the body is
increased by 80 N, then the acceleration of the body increases by

LG BN e ey P 0 B S5 Lisedn F 1o
B

Options :

1. % 16 ms ™’



> % 12 ms™
=
3« 8ms

B )
4. % 10 ms =
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A block enters a rough horizontal surface with a speed of 6 ms™'at x=1.5 m and leaves the

rough horizontal surface with a speed of 4 ms™ at x=2.5m. If the retarding force acting

on the block 1s F=-25x (where F is in newton and x is in meter), then the mass of the
block is

53!6;;/p"l+Vﬁjbdiﬂ?lﬁn}.@;.x: L3 m;.d.‘hgu(ﬁ ms_]JL&.l:i
(&;dlsi};);idﬁdhi/f@fl&/ﬁ%ﬁ:Jf?;.i; x=25m ::.Jigu(-ﬂl ms ' :(

_Jﬁ:«;(p(-‘/ﬂ;(uf}f X JJFufJfF‘ulg);:’rF=—25x
Options :
| % 2.5kg

3. v ke

4.%4kg
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A body of mass 3 kg is thrown vertically upward from the ground with a velocity of

10 ms™". If the maximum height reached by the body 1s 4.7 m, then the loss of energy due to
air resistance 1s

(Acceleration due to gravity =10 ms )

Lj‘l?f"'urf)'/'él{_gbﬁg ....r"?u(é,'ji;}}fd.Jaj 10 ms™ a.o’:))/(‘?.,{li,[;;:fr!;'i{}
u“ﬁg&jt';r:-estﬁlﬂf,?djﬁqﬂﬁi.? mS 44

(=10 ms™ . 3b08) A1)
L%

Options:
1.9
2 % 18]

3% 301

4. % 47 ]
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Four bodies of masses 8 kg, 2 kg, 4 kg and 2 kg are placed at the four corners A, B, C and D

respectively of a square ABCD of diagonal 80 ¢m. Distance of centre of mass of the system
from the corer A is

Il LABCD 8 L7s80 om S Latke L2 kg mid kg, 2 kg, 8 ke

.,L"[i!ﬂ"wj;‘f’r..f/;.ﬁ ‘."..SJ/:T’_EF’LJ’J...'.JPHDJJI C,BA
Options :

1.+ 30 cm
2 % 40 cm
3. % 60 cm

4. % 20 cm
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A thin circular ring of mass 0.2 kg 1s rotating about its axis with an angular speed of

51tads™ . Two particles having mass 2 g each are now attached at diametrically opposite
points on the ring. Then the angular speed of the system 1s

LPL L1 if e Jodinsind s Lusimd,Lhed02kg
{ﬁ'flﬁ]{JEJEJIJJQ.;B/J:(UNHJ.J_.Jjg_:@g .{l/q,_:.u#;;.,ﬂ?n

Options :

1 %100 rad s

> v S0rads™



3 % 5lrads™

4 %102 rads™
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The amplitude of a damped harmonic oscillator becomes — times its initial amplitude A, af

fn

the end of 20 oscillations. The amplitude of the oscillator when it completes 40 oscillations 1s

cbntfL¥ A, .!ngl::rcE!.;rE'ﬁiium 00K A v A bl
‘ n

Options :
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A body weighs the same on the surfaces of two planets of densities 'p," and 'p,'. The ratio

of the radii of the planets is
Z.uu.L:»uH'.u.._}'4:_1:‘3':[_,&{!u}JK(/"-i‘:l.;uié’dfu!i}'”J——""‘:"Ljrlpzl A'p,
‘Jﬁ:}r‘;d L)J/l’ju.-w
Options:

(A

1.« P

[

-

= i

4. % P
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A copper wire of cross-sectional area 0.01cm” is subjected to a tension of 22 N, If Young's

modulus and Poisson’s ratio of copper are 1.1x10" Nm™ and (.32 respectively, the change
in the cross-sectional area of the wire is

DAL e N e N £ e L 35158 001em

-?@3:5@" /uué,ﬁigﬁ.}r,;r.;._‘gﬁw..%z.m 1.1x10" Nm'chvj‘f

Options :

1 ¢ 1.28x10°cm’
> # 1.16x10cm?
3 % 0.64x10°cm’

4. % 0.58x10 °cm’
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A soap bubble is given a negative charge. The pressure inside the bubble

sl L& e e fE L o]
Options :
Increases

1. % {ﬁ.;usl

becomes equal to atmospheric pressure

5> % fﬁd!l.-‘f_.ﬂ:}d:lﬂa/



does not change

® (ﬂ*"dfi;

decreases

4. f-"frf
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A wooden cube 1s floating in a bucket of water with m of its volume immersed. If this
bucket with the wooden block is now placed in a lift moving down with an acceleration of

t

% . the fraction of volume of wooden cube immersed in water is

p ¢ TR gy A
oL A St Aot LYo : (L bLiPd
CC-_J;"E.ﬁ:;.sjﬁg&g’aﬁ-?@:ﬁﬁgl;&;@d)d@;ﬂ-@.:;CI/I % e

-fﬁ/({f

Options:
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The initial and the final temperatures of a black body are 27 °Cand 177 °C respectively.
The increase in the amount of radiation emitted per second is

Ll do ek Lle 2 LTI °C 1127 °C U Qi it ko]

Sl 70 L Iy

Options :
1. % 506.25%
2. % 150.25%

3. % 225.75%

4.+ 406.25%
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The change in moment of inertia of a solid sphere of mass ‘M’, radius ‘R’, for a small
change in temperature 'At’ is
(« is coefficient of linear expansion)

Snd e phor Lo g LB SR eI M e $ # pF el N
(e L/ G o)

Options :

EMRfam
1. % J

Er'wiRzu::r,ﬂ.t
2.4 3

— MR? a At
3. % 5

ZMR? g At
4. % 3
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The coefficient of performance of a refrigerator is 5. If it 1s placed in a room at a
temperature of 39 °C, the temperature inside the refrigerator is

AR b Pt S LT 9°C S5y 2K p
SnfElnL

Options :

1. % 13°C



2. % 32.5°C
3. v =13°C

4. % =32.5°C
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The ratio of the degrees of freedom of monatomic and diatomic gas molecules is
& i o f #
-Muékrj,'iﬁ:lgl E.u:)LfJ'" uﬁﬁg.mlﬁ,fﬁ._fl

Options :

1. % o5
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An observer is standing below a freely falling source of sound of frequency 900 Hz. The
change in the frequency noticed by the observer after 3 seconds of free fall of the source is

(speed of sound in air is 330 ms™' and acceleration due to gravity = 10 ms )
.:uhwm&?huwf_mmw_gi,_‘i“iﬁ_f,:uuTLJuMgerﬂ 900 Hz
_ci'_t‘/:.hﬁf uf:JLEUE_/f;IJUTL
(= 10 ms ™ g7 362480 19330 ms™ BT 120
Options:

1. % 990 Hz
2. % 818.18 Hz
3. % 81.82 Hz

4.+ 90 Hz
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When two progressive waves given by y, =4sin(256mt)and y, =4 sin(248xt) are

superposed, the time interval between the maximum and adjacent minimum intensities is
(t 1s time in second)

SO y, = 4sin(48t) 41 y, = 4 sin(256mt) U v s
igﬂﬂsﬁsuyniu;mﬁlﬁ,
(ucur-bg{_--ﬁ:t )

Options :

1. %



l second
2z

— second
2. %

|
— second

3. ¢ 8

— second
4. % 16
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A convex lens of focal length 10 ¢m is placed coaxially at a distance of 4 ¢m to the right of
another convex lens of focal length 16 cm. If an object is placed at a distance of

8 cm to the left of the convex lens of focal length 16 cm, then the distance of the final image
from the object is

REIANE ue st b SR E 6] it L W2 10
VW2 LI 2 FE 8oL it LI E 1608 AL L

-E”ﬁ)-’ﬁc)ynﬁdydf T;:lﬁ.._; &
Options :

1. % 28 cm

> = 40 cm



% 36 cm

4 ¢ 32 cm
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A prism having angle ‘0" and refractive index of the material of prism ‘n’ are related by

|
o+l

D:.;jfjr;:.ezzsin_] L :f"v..v-’f"é:‘n,LJ-thﬂjlKﬂJLcCJJi;'J!F:'!U‘B,éJ;;"'Q

o +1

0=2Sin"!

. If the angle of minimum deviation is 60° then the angle of prism is

Kt K 60° S 71l
Options :
1. % 34°
2, v 60°

3. % 30°

4. % 45°
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A polaroid sheet ‘P’ is placed on another similar polaroid sheet ‘Q’ such that the angle between
their axes is 45°. The ratio of the intensities of the light emerged from polaroid ‘Q’ and the
unpolarised light incident on polaroid ‘P" is

sl S, < Boli2l 1y QU e /mﬁP'C‘?‘ o

Lﬁbﬁ.,.-}ﬁ/_jJlsLﬂC;J{,‘P}l}?}ﬂﬂlﬂL‘ﬁJIJLK@BLiQ’L}?ﬁ.ﬁLt’ﬁ45° )

£,
Areronlew

Options :

2. % 12

3. % 1:4/3

4.%13\5

Question Number : 104 Question Id : 3838232824 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
A charged particle of mass 5 g and charge 20 uC is thrown with a velocity of 16 ms” ina

direction opposite to the direction of a uniform electric field of 2x10° NC™'. The distance

fravelled by the particle before coming to rest is
ALE 2L () A 20 1C el 5g e e L 10¥ 2x10° NC”
Kbl 204N LT pNedF L bobg e iafloms™ S
Options :

1 = 24 cm



5 % 12 cm
3. ]f} cm

4 % 20 cm
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Two positive point charges of 10 uC and 12 uC are kept in air with a separation of

12 cm. To make the distance between the charges as 4 cm, the work done is

Ffwfjabﬁéﬁﬁﬁf'fc&"l2:_,#_/1)4:!&:7:(12 uC 210 uC Jﬂoﬂ_ﬂ}w
it S 7 4 il nd
Options :
| % 24]

, w181

5 %9

4% 12]
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A storage battery of emf 10 V and internal resistance 1 €2 is being charged by a 100 V dc
supply using a series resistor of 17 €2, The terminal voltage of the battery during charging is

LA a1 p i £17 QN Qe pdusta 10V emf 6§ A 25k

{f s ACharging) .:;‘s;u,,:fd}w.a;_ﬂggﬁ‘méwc Z100V L
Options:
| %25V
, %30V
4 w15V
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In a meter bridge, when an unknown resistance ‘R’ is connected in the left gap, the null point
is obtained at 25 cm from the left end of the wire. If the resistance in the left gap 1s increased
by 100%, the distance of the null point from the left end of the wire increases by

KE B MAL bbbz LB R e pe i 7]
Se MALwaepulionon fenp bdsfi/icenfoe il
LR ML e
Options :

% 50%



5 x 40 %
3 v 60 %

4 % 80 %
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An electron moving with a velocity of 4.8x10° ms™ enters a uniform magnetic field of 0.182 T
in a direction perpendicular to the field. The radius of the circular path in which the electron
moves under the influence of the magnetic field 1s

(Mass of electron = 9.1x10™ kg and charge of electron = 1.6x10™ C)

Lo e Bl 0182 Te g lie il 48x10° ms”
L pdfignd 7y Pt la;sJﬁ!Jdlyﬁ tb{_t'nf !
(16x107 C =M A1 9.1x10" kg = &S A1)

Options :
1 ¢ 1.5x10* m
5 % 1.5x107 m

3 % 2.5x107° m

4. ® 2,5){]0_4 m
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Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A long solenoid of length 75 cm carries a current of 3.5 A. If the number of turns of the
solenoid is 600, the magnitude of the magnetic field inside the solenoid is

.._.-"4.60011ﬁJu:)?uﬁ"l:JrﬁgCJme,K’).SAif v 20K 75 em
ijlﬁ»d’ul,yu’-'b g 0 ity
Options :

1 % Tx107 T
5 % 2.48x107° T
3 % 3x10° T

4 ¢ 3.52x10° T

Question Number : 110 Question Id : 3838232830 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A coil of 200 turns and area of cross-section 5x10~* m® carries a current of 3 A. The magnetic
moment of the coil is

5 e s34 L0 315175 1 5107 ' A0
Options:

1 % 12 Am?



5> 3 Am’
5 = 6 Am’

4 % 9 Am’

Question Number : 111 Question Id : 3838232831 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
When a diamagnetic substance of relative permeability 0.5 is filled inside a solenoid, then
its self-inductance

IO {9 VAN AT L el 361058 L Xidr
Options :

becomes doubled

1. ® L,f!fbfj

becomes half

f #
2. v i

1s quadrupled
3 % Lfﬂﬁ.f%

becomes one-fourth

4. % Lf!'-'LEL;‘JZ ‘-1,{'



Question Number : 112 Question Id : 3838232832 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

When an alternating voltage given by E=100sin (10t), where E is in volts and t is in
seconds, is applied across a capacitor of capacitance 20 pF, the peak current flowing in the
circuit 1s

Prq_ﬂuﬁg}?ft‘m ) E4ulz E=100 sin ( ]0 ) C.J-:J:b-..fi
i et e I ML 3 Lned f 20,

Options :

1.% 20 A
2 % 2 A
3. 02A

4. ® 0.02 A

Question Number : 113 Question Id : 3838232833 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

If two electromagnetic waves with electric fields given by !:—I =E, sin (ky—at)/ and

E: =E_ sin (ke-ot+7); interfere, then the peak value of the electric field of the resultant
wave 1§

2l E' =E, sin (k,'c—mt)_}'cjlggaiu:?y’g(}t&d,:uﬁ

A IJL;L;,JJ; ﬁ-,rJ"lp,;é_ﬁ:ﬁu E, =E,sin (kv -ot +7);

Options :



Question Number : 114 Question Id : 3838232834 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

If the wavelength of the incident radiation on a photosensitive metal surface is decreased
from 3100 A to 1550 A, the maximum kinetic energy of the emitted photoelectrons is
tripled. The work function of the metal surface is

bbbl P 1550 A 3100 ASEr s Lt itdnl Eonsodid

e I St A PSS 8 Ll
Options :
1.% 3eV
2. % 4 eV

3.« 2eV

4. % 6eV



Question Number : 115 Question Id : 3838232835 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In Geiger-Marsden experiment, if the initial speed of o particle is doubled, then the closest
distance of approach of the o particle from the gold nucleus

(Assume « particle is projected straight towards the gold nucleus)

U?J:diuiaisfe?rfc':((}o]d) d'_!"__ﬁ')"[r lexiuwax le b k:‘..}f

Pl
(Vb S 46 L(Gold) v drsa S )
Options :
becomes doubled

1. ® .':;!:U—lﬁ}

becomes quadrupled

At o
) ® TNV e

becomes half

3 % rf.d:f._i-f-‘-}

becomes one-fourth

- #

e

<@L

4.

Question Number : 116 Question Id : 3838232836 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



The energy equivalent of 3.2 pg of mass is
JEI;J:LAL:,;‘/ 3.2 ug

Options :

1 % 18%10% ]
5 « 18x10%° MeV
3 % 18%10% MeV

4 % 32x10°° )

Question Number : 117 Question Id : 3838232837 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If the nucleus X**', initially at rest, splits into two daughter nuclei Y'™ and Z'*’ then the
ratio of the kinetic energies of Y and Z is

P Il 2 M YO LS p 7 X0, p Ll b i

S AWILT Y
Options :
1. % 5.7
2.« 15

3. % 1:1

4. % 49:25



Question Number : 118 Question Id : 3838232838 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
[n a common emitter transistor circuit, if the emitter current is changed by 4 mA, the
collector current changes by 3.5 mA, then the current gain is

b ama fx b} ded, £ np Sl

.iu!u::,fé,:.,;'ﬁ 3.5mA L_k;i;

Options :

1. % 0.875
2. %35
3. &7

4. % 0.5

Question Number : 119 Question Id : 3838232839 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



The power delivered by the battery shown in the figure is
(Take the forward and reverse biased resistances of the diode are zero and infinity

respectively)
M L § S
(E560 3 o2 AU sl g8, £ L35)
D, 100
—H—WW—
5V,
|I
Options :
1.4 250 W
2. % 5.00 W
3.% 7.50 W
4. % 375 W

Question Number : 120 Question Id : 3838232840 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A 5 kHz frequency signal is amplitude modulated on a carrier wave of frequency 2 MHz. One
possible frequency of the resultant signal is

N S b Phbod JE L5 kHzbr S bl 2 MHz

Options :



1.+ 1995 kHz

2. % 1985 kHz

3. % 1975 kHz

4, % 1965 kHz

Chemistry
Section Id : 38382365
Section Number : 4
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 40
Number of Questions to be attempted : 40
Section Marks : 40

Enable Mark as Answered Mark for Review and

Yes
Clear Response:
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 38382365
Question Shuffling Allowed : Yes
Is Section Default?: null

Question Number : 121 Question Id : 3838232841 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

The momentum of an electron is 6.625x10™ kg ms™, What is its wavelength in nm?

(h=6.625x10" Js)
(h=6.625x10™ Js) £ nif UinmEr 61 6,625x10% kgms™ =7 Aseb )

Options:

1. % 100
2.+ 1000
3. # 500

4, % 6625

Question Number : 122 Question Id : 3838232842 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The following orbital energies (E) are compared. Identify the correct sets
RV A (TN T

(I) E, (H)=E, (H)

(1) E, (H)=E,(He)

(1) E, (H)<E, (He)

(IV) E, (He)<E, (H)

Options:

1 = L, [T only (<)

o % L IL IIL IV



3. % HL IV only (<)

4« L, IV only (&)

Question Number : 123 Question Id : 3838232843 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
The atomic numbers of elements A, B, D, E respectively are 7, 17, 13, 11. The element which
forms basic oxide among them is

UL A LA ST, 17,13, 1 2 Al at 2L 2 A, B, D, E

Options :

1.« E

Question Number : 124 Question Id : 3838232844 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The electron gain enthalpy (in kJ/mol) of oxygen, sulphur, selenium respectively are

- PN kl/mol) JJ Pl it J! /"-FIJ_I.." g

IF"
|



Options :

1 % =195, -200, -141
5 % -195,-141,-200
3 v -141, -200, -195

4 % -141,-195,-200

Question Number : 125 Question Id : 3838232845 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Among the following, the molecule in which all atoms obey octet rule is

<t ji-.frdﬁ:&dJaﬂ|£;j?ﬁf|’ﬁ£ur?.}vjﬁfur:ut5,._:-,1.5-‘
Options :

1. % BCl3

> =% BeHa»

3. % SFﬁ

4.« SClha

Question Number : 126 Question Id : 3838232846 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the number of molecules having permanent dipole moment from the following

< é;xlwa‘wuu £ é&ﬁﬁdﬁ:lﬂp(auv:ﬁfﬁutiyﬂ
CCl,, NE, H,S, HBr, SF,, SiF,, XeF,, BeCl,, SnCl,, BE;, SO,

Options:

1.% 35

2.4 7

Question Number : 127 Question Id : 3838232847 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the correct equation that relates kinetic energy (Exe) and pressure (P) of one mole of
an ideal gas?

(V=Volume)

e L L7802 el () (D AT A

(V=F)

Options :



Question Number : 128 Question Id : 3838232848 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

A hydrocarbon has 85.7% of carbon by weight. 56 g (2 moles) of hydrocarbon was
completely burnt in oxygen and obtained CO; and H,O. What 1s the weight (in g) of CO;

formed? (C =12u,H=1v,0=16u)

J’: !(QEJKHJH((L’ 2)|"Lf56 uf&:ﬁfgruﬁ-gnﬁfw( 85.7% ;:.Buf.d};u’:uiﬁuﬂ

(1 ik COmE S b dn o0 41 COprlf L8
(C=12u,H=1u,0=16u)
Options :
1.+ 176

2. % 88

3 % 132



® 352

Question Number : 129 Question Id : 3838232849 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
At T(K), the following graph is obtained for an ideal gas

b UGN E il LA By TR)

-

Which of the following graph correctly represents the work done on the gas (shaded part)?
# o . L
(.W'Kl/"f)-a:_t'/d.{;’Vé';pﬂ"{aﬁ(’lfh;ff_ﬂfuf L):Jnj,;m'-‘

Options :

P
A




By

Question Number : 130 Question Id : 3838232850 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Identify the correct statements from the following
[. Conjugate base of chloric acid is C1O"

[I. AICI, is a Lewis acid

[TI. Conjugate base of NH, is NH,
Sl Pt ipse

L. < ClO SANEE B K 2500

1. «27U% AlC]

= o
. < NH; gi($£)36 NH,

Options:

o LIL I



I, Il only
I

I1, TIT only

I, 11T only
4 % LIT &G4

Question Number : 131 Question Id : 3838232851 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Identify the correct statements from the following

*%{uﬂﬁt‘JJchg L sun

L. H»0; oxidizes PbS to PbSO4

<t/ Ut PbSO4( PBS ; H0:,
1. H>0O> 1s used in the industrial preparation of sodium perborate

_.-T_vﬁdb}luﬂd;gffydjq;£4ﬁir H->0,
1.~ H20:1s insoluble in water
1?42:ftu':&£ H>0:
Options :
I, IT only

1 ¢ LI A

I, Il only

5 % LI 32



I1, III only
3 = ILIT G4

4w LTI

Question Number : 132 Question Id : 3838232852 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The anions present in baking soda, caustic soda, washing soda respectively are
by oL g PP

.;_,Jlug}lqu'lﬂ(ﬁr_ﬂ‘l})f:rfgﬂ:dirbﬁ-ﬂ(l,ﬁf%)erFH_.lﬁr

Options :

. % CO¥,OH",HCO;

-~

, « HCO;,CO? ,0H

. » CO¥ ,HCO; OH

4 » HCO; OH™,CO;”

Question Number : 133 Question Id : 3838232853 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
The products formed in the reaction of BeCl> with LiAlH4 are

e lebd st S AL LiAIHs ZBeCls



Options :

1 = Be,Li[AICI, ], H,
,. » BeH,, LiCL, AICI,
5 Be,AlH;, LiCl,HC]

4 % BeH,, Li[AICI,)

Question Number : 134 Question Id : 3838232854 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
[dentify the reaction in which hydrogen gas is not liberated

e E LA 1042 J:u'?étﬁﬁwu(upbju”
Options :
1 % Al(s)+HCl(aq) -
> » NaBH, +1, —

5« BE +LiAIH, —

4 = Al(s)+NaOH(aq) —

Question Number : 135 Question Id : 3838232855 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Assertion (A): Silicones are used in surgical and cosmetic plants
Reason (R): Silicones have high thermal stability

u.?i-/rﬁdﬂ:ﬂ;jfﬁlﬁlﬁ/ulﬁ'lb@;&: (A) §#)
-u,"}'g:f L7 UJU’# LJ‘_/":':'L' (R)..?J
Correct answer 1s
’T—'-.*’fg
Options :

(A) and (R) are correct. (R) is the correct explanation of (A)

1% J(A)r*_...am (R)- rff (R).#1(A)

(A) and (R) are correct, but (R) is not the correct explanation of (A)

2 v S S oot R F il RA)

(A) 1s correct but (R) is not correct

3. % -eﬂufé#(ﬂ):;-@%éﬁ(a)

(A) is not correct but (R) is correct

4. % *%-éf(R)u.r < 5(;‘%}

Question Number : 136 Question Id : 3838232856 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



The minimum concentration (ppm) of dissolved oxygen in water that is required for the
growth of fish is

uf(ppmlib’:"xldjj ffuf:?eﬁupuf LJ{JJi e..(u WS [k

Options :

1. % 10
2. % 8
3. % 12

4.v 6

Question Number : 137 Question Id : 3838232857 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Observe the following formula

LSV S PP
CaHs
-IHIIH
H3C
Cl

The groups/atoms in the plane of paper are
- ﬁddﬁ*’ﬁﬁ(ﬁﬁﬁ/uﬁ;:f

Options :

1_ W’ I‘I.. Cl. C

, % CHs, CI



5 % H,CHs, C

4. v CH3, C2Hs, C

Question Number : 138 Question Id : 3838232858 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
[UPAC name of neohexyl alcohol 1s

o
ATUPACE VI, LGy

Options :
3, 3 — Dimethylbutan — 2 — ol

e A 43,3

3, 3 — Dimethylbutan — 1 — ol
x Jrm1-F e f 6 -3, 3

2, 3 — Dimethylbutan — 1 — ol

3 % d’"l"biﬁ'UP Lﬁ;:dlt 23

2, 3 — Dimethylbutan — 2 - ol
4% Jr2-f e S5 2,3

Question Number : 139 Question Id : 3838232859 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
From the following, identify the set that contains all meta directing groups

_&tﬁpﬁﬁfjdﬁ.‘.{ ;‘I_.ngfufﬁ&(ﬁf(‘gdzd S0 I AN
Options :

1. * “NHCOCH,, Cl, —CHO

2. ] _OCHE, _NOQ, _N-H‘y

.+ —CN,—COCH,, - COOCH,

, » —OH,—CN,—CH,

Question Number : 140 Question Id : 3838232860 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Two statements are given below

,ﬁgi.aé;c:{:g.u
Statement I:  The resonance structure with the more rjlln1ber of covalent bonds 1s less stable
it P ef 0L i3S Lp g
Statement II:  The position of nuclei does not change in resonance structures )
_L-xu:fuwrws’aﬂ’/wuﬂ«f 1o

Correct answer 1s

’f--.*"?g
Options :

Both statement I and II are correct

1. ® -l.x.','-'éﬂuf::“ st Il



Both statement I and II are incorrect

5 % BHE Uil Lok

Statement I 1s correct but statement II 1s incorrect
3 % -;uf:}gllu'_l-;.;{-é Lok

Statement I is incorrect but statement 11 is correct

4. --f—é.o [ gke™ e

Question Number : 141 Question Id : 3838232861 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A crystal 1s formed by X (cations) and Y (anions). Atoms of Y form ccp and atoms of X
occupy half of octahedral voids and half of tetrahedral voids. What 1s the molecular formula
of crystal?

2 EX MBSk oep ;2 LY b ALY A (U)X
i?ﬂwuojwﬁ'-ﬁagfﬁu&f Jg.ﬁm;u&f’ it

Options :
1. % Xa2Y3
2 % XY3

3 % X3Y

4.« X3Y2



Question Number : 142 Question Id : 3838232862 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Two statements are given below
Statement I: Liquid A and liquid B form a non-ideal solution with positive deviation.
The interactions between A and B are weaker than A-A and B-B interactions

Statement I1: For an ideal solution, A H=2kJmol™; A . V=0

i mix

,Vgia,-;,.:.ftg.”

S P n L BAAGLF S 42 5L S AB AT Wl
LS SUBB o A-A i

V=04 LJF e ol

A H=2kImol™: A

mix mix

Correct answer 1s
'T--.'”?g
Options :
Both statement I and II are correct

1. % L.r_"?éall s T bl s

Both statement 1 and II are not correct

2 % L.-r.'?d:*}g[[ 2 Tellbydsn

Statement I is correct but statement 11 is not correct

3. ¢ ’T—'Uﬁ;g" CJ.L:-C«"Q{—-é‘ 5%



Statement I 1s not correct but statement 11 1s correct

&k € 10k

Question Number : 143 Question Id : 3838232863 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
At 300 K, aqueous KCI and aqueous K504 solutions were electrolysed separately using Pt
electrodes. The gases liberated at cathodes in these two electrolytic processes are respectively

qu)l.;Tf_ggﬁﬁ.cagug‘difdﬁl9({_)3/::"4PtJJ:gaéchCKzSOmeCl.«;}OD K

-u.?#ﬁ'&uﬂd'fi-ﬁfwl&s;fﬁ{ v qu@‘k
Options:

.« BL. 1

0,, 0,

2. % 132

Question Number : 144 Question Id : 3838232864 Question Type : MCQ Option Shuffling : Yes
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: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



[dentify the correct graph for a first order reaction (A—P)
(x-axis = time; a = initial concentration of A; (a-x) = concentration of A at time t)

ZslEnIE Han o Lonk

(x-axis =39 t a =/ A0LEIE A «(a-x) =8 IKA ,;t:f!a)

Options :

'y

1. % F
g )

2. % P
log(a-x)

3. % &
AL
8 (a-x)

4.« P x

Question Number : 145 Question Id : 3838232865 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A few sols are given below

AsS3 sol; starch sol; AlLO, xH,0 s0l; TiO,sol; gold sol; congo red sol; blood; methylene

blue sol; CdS sol

The number of positively charged sols in the above list is

_USJHL:;;(JH()X—;
£, LA 0, ML, X0 i (801 s (U ) s
£ s

- ] F?
_.5.,-IML,(U!)KLJUL:‘;J::fjﬁdb;:i

Options :

Question Number : 146 Question Id : 3838232866 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Match the following:

-E’T__-l}.u‘t_jﬂpfgtjg;ﬂ

List I (Metal) List I (Refining process)
g = | (=les) =g — 11 {.;,,HEL&F)

A Ni I Zone refining

..E:le.i_-uc)!.?

B Si 1 Liquation

Pl

G Sn 11 Electrolysis

* -
O L4

D Cu v Distillation
7 i
e

-

A" Vapﬂur phase rcﬁning

Correct answer 18
+Tlﬁg

Options :

. vA-V, B-l, C-lI, DI
, %« A-V, B-Il, C-I, D-II
3 % AV, B-, C-lV, D-lI

4 % AL, B, C-I, D-IV

Question Number : 147 Question Id : 3838232867 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
Identify the correct statements from the following
i. In PCl; equatorial bonds are longer than axial bonds

ii. Zinc reacts with dilute nitric acid to give NO,

iii. Rhombic sulphur is yellow in colour

iv. The reaction 250, (g)+ D:{g)—V?E‘—JrZSOS{g), 1s exothermic

E Sl AL sg 1

i L e 6L ili# (151 PC

ii. e 3 NO, £S5 AL 25 S Z (=)
i, e b6 b s B st

iv. - Sl s7 £ 280, (g) + 0,(g) —225250,(g)
The correct option is
e H1E Lo
Options:
1, 11, 111 only

| % i i, i 2

ii, iii, iv only

5 s i, i, iV 3

1, iv only

3. % i.,, i\" u_-;/'p

11, 1v only

4 v il iV
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The 10dine oxide which 1s used in the estimation of carbon monoxide 1s
e b AT g K S 2

Options :

1. % 1,0,

5>« 10,

]

3= 1,0

4« 1,0
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Which of the following oxoacids of phosphorous has two P-H bonds?

..;:"._L':LA?: P"H!Jj;/Tb/ufJ}a"E}ﬁfuﬂuti
Options :
Hypophosphoric acid

- = # . -
1. % il

Orthophosphoric acid

F T R
2 2r iR )



Pyrophosphoric acid

T T
e ST

Hypophosphorus acid

R
4' \/ A-".r"\_,- JF“.’;E
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The metal having highest melting point among lanthanides is

;lﬁ.}dhi’f} = ﬁa*k:ﬁ._ﬁfutfljl,;“'j

Options :

1. % Ce
2.« Sm

3.% Yb
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Which of the following is correct?
q-g JJJ-?M‘*‘
Options:
Ruby is Al,O;containing 5% Cr’" ions
1% -.:'_t'ﬁ;}:ﬁ‘.,; 1, Cr* 5%z< AIEO_; Qe

Mn, (CO),, contains two bridged carbonyl groups

, % _;L.l?'!fuuj"x;ufﬂz--;d)ﬁtﬁ-uisf Nh]j(co)]{]

[Co(NH, )" is an inner orbital complex whereas [Ni(NH,),""is an outer orbital complex
S alIINNH ), e pnage S b 1 [CONHL ) 45

3.¢¥

[Ni(CNL]}s [NiCl4 ]2' both have tetrahedral geometry
4. % iﬁgjd}rﬁfjfu;”[hii(:l4]3_f[Ni(CN}4]3'
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Match the following
_é-tcug'}ﬂu(dj.?iﬂ

List — I (Type of polymer) List —II (Example)
erd 1"l ) SR (=)

A | Addition polymer — Homopolymer | Buna-N

:i.Lf.J:L}L-'F’ dl-ifﬂujlj? (=N
g | Condensation polymer i | Orlon

LL'-,&J:% Ul
c | Addition polymer — Copolymer m | Perlan—L
.J_L:,.J:LI}L-‘:I —-Lb.ﬁ,‘T Ula—L

Correct answer 18
s ¢
Options :

1% A-IIL, B-II, C-I
5 % A-IIL, B-1, C-II
3. % A-II, B-I, C-III

4 v A-IL, B-IIL, C-1
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The amino acid obtained from cheese is

P

KT IPYT0 o PPy A



Options :

COOH

HJN—I— H

CH:—{_)—oH
1.4

COOH

HJN—I— H

CH:—@

2. k3
COOH
H>N H
3 % CH2OH
COOH
H>N H
4 % CHs
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Which of the following is used as substitute for sucrose?

_‘:L.'_t'rfull.’;‘”J;J:bd:JéJ'r;L}J/Cii_?Jﬁ
Options :

1. %



CO\
o
cCOo~”
SOE\
S
SO
CO\
S
-

SO2

3.v -
Sey
/
CO

Question Number : 155 Question Id : 3838232875 Question Type : MCQ Option Shuffling : Yes

4. %

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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An alkene X (C;H,,)on reaction with HBr gave Y (CH, Br). Y undergoes hydrolysis via

Sx1 mechanism. What 1s X?
XS ATL 5L 2 Yot (CH BY £/ S0 4L HBr (CH,) Xﬂ u
el Xl
Options :

NS

1. %



2$3M
-

3.

A

%
4.
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The products of the following reactions X and Y respectively are

?fﬂlgéﬂ#béupwdigzﬁ XY .t

(i) LiAlHz COOH (j) soch
¥ s o 8 - X
(1) 2O (ii) Ha . Pd-BaSO:

Options :

1.¢

@,CHO @,C‘HO
2. %

@AOH @/\OH
3. # ,



OH CHO
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What are the reagents A, B, C respectively in the following reaction sequence?

Lo W CBA JWLEGiLipn

—> X i:- Y —
Soluble in Neutral Soluble in
NaHCO:s it HCI
NaHCO: : ﬂlC‘i
Options :
. KMnO,|OH™ : NH, ; PO,
1. % : > et
KMnO, |OH" ; NH, : Br, |OH
2. ¥ . 2

, » CrO,CL,H" ; NH,OH ; (CH,C0),0

.« CrO,CLH 5 NH,OH ; P,0

5
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Correct Marks : 1 Wrong Marks : 0
Arrange the following in decreasing order of reactivity towards nucleophilic addition

ot W S P BED b s d 1 fi 100

CH;CH,CHO | CH:COCH:; @,CHO @,COCH_:

A B [ ¢ T b

Options :

1.« A>C>D>B
>+ A>C>B>D
3. C>A>D>B

4.« C>A>B>D
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Which of the following sequence of reagents convert benzoic acid to benzaldehyde?

PRIAFNI YN TS A
Options :

. » C,H;,OH,H'; (i) DIBAL-H (ii)H,0
, % SOCl,; H, |Ni

. » C,H.OH,H’; LiAH,,H,0



, » LIAIH, H,O; KMnO, [H

Question Number : 160 Question Id : 3838232880 Question Type : MCQ Option Shuffling : Yes
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An organic compound C;H;Non reduction with reagent X gave Y. Reaction of Y with p-

toluene sulphonyl chloride gave Z which is insoluble in alkali. X and Y respectively are
SRS e pY b Y g o XU CHN it

g Y Xee b LU S 2 ktiz LS54V L

Options :

NH:
LIPJHJ s @/\

1. %
NHCH:
NaBH: o
2. %
, NH2
H>|[Ni o
3. %

NHCH:
Hy|Ni o @

4.+



